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(A) 12% (B) 20% (C) 24% (D) 28%

)Ara ML EEY "HEB# (AssetBeta) ; 5 1.2 L aftb® 40% » T4
FRriF#s % 25% » A1 A "»fgﬁﬁm_] B %9

(A)1.50 (B)1.74 (C)1.80 (D)2.00 -
(4) BAEM ' EI2H (Trade-off Theory) | 33K

(A) A F A% J& 3¢ ho 01 F5 47 4% (B) 3% fvig B R R F%&EHME
(C) N BEAUIMRE (D) AR % é’] 5 D RS
(5)A 7-year 8% coupon bond of par $1,000 is trading for $1,240.08. What is its yield
to maturity(YTM)?

(A) 4% (B)6% (C)8% (D) 10%

(6)You have just read an advertisement reading, ' ‘pay us $100 a year for 20 year and

we will pay you 3200 a year thereafter in perpetuity.” If this is a fair deal, what is
the rate of interest?

(A) 5% (B) 5.65% (C) 9.55% (D) 10%
(7) Modihiant and Miller developed a trade-off theory of capital structure. They

o I BN R AR B D

showed that 15 useful because interest 1s tax deductible, but also that
brings with 1t costs associated with an actual or potential bankruptcy.
(A) sales (B) manager (C) debt (D) EBIT
(8) The efficient frontier for portfolio containing risky and risk-free assets is called
the:
(A) efficient set  (B) market set  (C) security market line (D)capital

market line

(9) Which of the followmg statements 1s correct for the marginal cost of capital
(MCC)?

(A) The more the equity a firm uses, the lower the MCC

(B) The MCC usually jumps up when the capital amount exceeds some breakup
polnts

(C) Debt amount usually does not affect the MCC

(D) The MCC calculation does not consider tax rate

(10) Peter Minuit bought Manhattan Island (NYC) for $24 in 1626. If we assume that
the capitalization rate 1s 8% throughout the years. How much 1s it worth in today
(year 2008)7

(A) $666.345 trillion (B) $140.631 trillion
(C) $103.368 billion (D) $.058 million
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(Z) BB RETERE: 3*20%+2*10%=80%

20%
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) X E]SHER T EEIEIRTERE (Degree of Operating Leverage) | B{A] ?
b) X NEISHERY T IATSIEIEFEE (Degree of Financial Leverage) | B[ ?

C) X INESHER " MEIEIRFEE (Degree of Total Leverage) | B d[ 7
d) e HA R8> 8 X A FBRENE LS E RS EIeT
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20% .
Q) RIBEHEIREEE IR EFRENT ¢
HH# - -$10,000 ; 1A $8,0000 £ 2 & $6,000
O34 -$3,0000 5 4 F 1 $1,000 0
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(4) Kenneth Cole Production (KCP) had sales of $518 million in 2007. Suppose you
expect its sales to grow at a rate of 9% in 2008, but then slow by 1% per year to
the long-run growth rate that is characteristic of the apparel industry--4%--by
2013. Based on KCP’s past profitability and investment needs, you expect EBIT

to be 9% of sales, increases in net working capital requirements to be 10% of any

increase in sales, and capital expenditures to equal depreciation expenses. [f KCP
has $100 million in cash, $3 million in debt, 21 million shares outstanding, a tax

rate of 37%, and a weighted average cost of capital of 11%, what 1s your estumate
of the value of KCP’s stock in early 20087

10%
(5) As in the market model, the systematic risk, /3,

15 assumed to be constant. Do

you thing it’s reasonable?




